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General Instructions:
i. This question paper contains two parts:

Part A - Statistics for Economics (40 marks)

Part B — Micro Economics (40 marks).
All questions in both the sections are compulsory. Marks for questions are indicated against each.
ii. Questions No.1 — 10 and 18 — 27 are very short-answer questions carrying 1 mark each. They are
required to be answered in one word or one sentence each.
iii. Questions No. 11-12 and 28 — 29 are short-answer questions carrying 3 marks each. Answers to them
should not normally exceed 60-80 words each.
iv. Questions No. 13 — 15 and 30 — 32 are also short-answer questions carrying 4 marks each. Answers to
them should not normally exceed 80-100 words each.
v. Questions No. 16 — 17 and 33 — 34 are long-answer questions carrying 6 marks each. Answers to them
should not normally exceed 100-150 words each.
vi. Answers should be brief and to the point and the above word limits should be adhered to as far as
possible.
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Which is not a method to find arithmetic mean?
a) Direct Method
b) Short-cut method
c) Step-deviation method
d) Karl Pearson’s method
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The range of simple correlation co-efficient is
a) Zero to Infinity
b) Minus One to plus One
¢) Minus Infinity to Infinity
d) Zerotoone
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If rxy=0 then the variables X and Y are
a) Linearly related
b) Not Linearly related
¢) Independent
d) None of these
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Relation between price and demand is :
a) Positive
b) Negative
¢) no relationship
d) none of these
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State the formula of calculation index number under Laspeyres Method.
Or
State the formula of calculation index number under Fisher’s Method.
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Read the following hypothetical case study carefully and answers the question numbers 6-9 on
the basis of same.
Statistical data can be obtained from two sources. Primary sources and Secondary sources. The
investigator may collect the data by conducting an enquiry or an investigation. Such data are
called primary data. If the data have already been collected and used by some other agency, they
are called secondary data. They can be obtained either from published sources or from any other
source, for example —a website. Where primary data is more accurate, on the other side,
secondary data saves money, time and energy. The most common type of instrument used in
collecting data is questionnaire. It is a set of questions related to statistical enquiry. While
preparing a questionnaire, we should keep in mind the following points.1. The number of
questions should be minimum as possible. 2. The questions should be related to enquiry. 3. No
mathematical /calculation question should be asked. 4. Pilot survey should be conducted before
mass circulation.
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The data which is collected by investigator is called (Primary data/ Secondary data.)
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Information from a magazine is the example of (Primary data/Secondary data.)
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data are more reliable.( complete the sentence)
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Which are not characteristics of a good questionnaire?
a) Limited no. of questions b) Simple questions
¢) Mathematical questions d)Questions related to enquiry
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When we want to classifying the data in the numerical term, which method of classification of
data is used?
(a)Quialitative classification
(b) Quantitative classification
(c) Chronological classification
(d) Conditional classification
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Calculate median with the help of following data

siw Marks 0-10
Number of students fernfsfat < g 3
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Write down two merits and demerits of mean.
Or
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The following table shows marks in Economics of the students of class XI. Calculate arithmetic
mean.

37w Marks fernféfehiger No. of students
2 5
4 10
6 15
8 10
10 5
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Draw a Pie diagram from the following data-
Item of expenditure food Fuel Cloth Misc.
Total expenditure inRs. 480 360 240

Or sterar
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1994-95 5.0 9.2 7.0
1995-96 -0.9 11.8 10.3
1996-97 9.6 6.0 7.1
1997-98 -1.9 59 9.0
1998-99 7.2 4.0 8.3
1999-2000 0.8 6.9 8.2
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The following table shows the estimate sector wise growth rate in GDP
Year Agri and Allied Industry Services
1994-95 5.0 9.2 7.0
1995-96 -0.9 11.8 10.3
1996-97 9.6 6.0 7.1
1997-98 -1.9 5.9 9.0
1998-99 7.2 4.0 8.3
1999-2000 0.8 6.9 8.2
Represent the data as multiple time series graphs.
= X 3R Y & oft=r wewse qorish aieied it
X 2 3 4 5
Y -3 -2 -1 0 1 2 3
Calculate the correlation coefficient between X and Y.
X 2 3 4 5 6 7 8
Y -3 -2 -1 0 1 2 3
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Find Mode from the following data by the use of Grouping and analysis table

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
No. of Students 4 10 25 15 2322 12 3
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A) Define statistics and write the main features of statistics.
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B) ‘The Government and policy makers use statistical data to formulate suitable policies of
economic development’. Illustrate with two example
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Explain the importance of the Consumer Price Index . What are the difficulties in the
construction of Consumer Price Index?
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Calculate the index numbers from the following data using:

(i) Laspeyre's method,

(i) Paasche's method,

(i1i) Fisher's ideal method:

2004

Items

e

2018

mrr Quantity (
Units)

<\a Price
(Rs)

mrr Quantity (
Units)

8

100

10

4

60

5

10

20

12

12

25

15

3

5

4
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When output of a firm increases from 20 units to 22 units and Total Revenue increases from Rs.
620 to Rs. 680 then Marginal Revenue is__

a) Rs.30 b) Rs. 6 c) Rs. 10
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In the situation of excess Supply, market price tends to

a) Rise b) Fall c) Remains constant
IRy a 1 37 AT

Give the meaning of price ceiling.
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State true or false.

Total Production can decrease when marginal production is positive.

(dNone of these

d) All of above
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Under which market homogeneous products are found?

(choose the correct alternative)
a) Perfect Competition Market b) Monopoly Market
¢) Monopolistic Competition Market d) Oligopoly Market.

At zero level of output AC is equal to
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Cause of upward movement along the supply curve of a commodity is: -

a) Decrease in Price of a commodity b) Increase in Price of a commodity

c) Increase in supply of a commodity d) Decrease in supply of a commodity
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Read the following hypothetical case study carefully and answers the question numbers 24-27
on the basis of same.

Demand refers to various quantities of a commodity that all the buyers are willing to buy at
given prices during a given period of time. Not only own price of a commodity but also many
other factors also affect the demand of a commodity. Such as price of the related goods-there are
two types of related goods 1. Substitute goods 2. Complementary goods. In these cases, change
in the price of one good also affects the demand of related good. Income of the consumers- on
the basis of income, there are two types of goods-normal good and inferior goods. Economists
say that there is no inferior or normal goods. It depends on the income level of the consumer.
One good may be inferior for one person but the same good may be normal for another person.
Normal goods are those goods whose demand increases with an increase in the income of
consumer and vice —versa. Reverse happens in case of inferior goods. Taste and preference of
the consumer, size of the population and government policy also affect the demand of a
commodity which is known as determinants of demand.
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There is (direct/Inverse) relationship between price of a commodity and its demand.
(Choose the correct option)
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If the price of X good rises then the demand of Y good also rises then both goods
are_ (Complementary/Substitute ). (Choose the correct option)
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Demand for inferior good rises due to (Fall/Rise) in the income of the consumer.
(Choose the correct option)




frmfafaa & & e aim &1 fafe =& 22
R T AT HEa o (ITIhT T 3T
| (T o T T (SHEEAT T R

Which are not determinants of demand of a commodity?
a) Own price of a commodity b) Income of the consumer

b) Nature of a commodity d) Size of population
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Explain any three features of perfect competition market.
OR
Explain the concept of Price floor.
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A consumer consumes only two goods X and Y. Marginal utilities of X and Y are 3 and 4
respectively. Price of X and price of Y is Rs. 4 per unit. Is consumer in equilibrium? What will
be further reaction of the consumer? Give reason.
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What are the relation between Marginal cost and average cost? Explain with help of diagram.
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How does an increase in demand of a commodity affect its equilibrium price and equilibrium
quantity? Use a diagram in support of your answer.
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Explain the meanings of Microeconomics and Macroeconomics with two examples each.
OR
Explain the meanings of positive economics and normative economics with two examples each.
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Explain any three properties of Indifference curve.
OR
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Define consumer equilibrium. Explain consumer Equilibrium under I C approach
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Define Production Function. Explain the Law of Variable Proportion with the help of schedule
and diagram.
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Karl Pearson’s method
Minus One to plus One
Independent

Negative

I

P == 4100
Podo

Pl - zplqﬂ % zplql % 100
Ipogo Ipom

Primary data
Secondary data
Primary data
C) Mathematical questions
(b) Quantitative classification

Calculate median with the help of following data

N =2 fi)fi=36 3% Marks Number of students
N/2 = 36/2 = 18 A A e

Median Class is 20 - 30

1=20,f=15cf=7,h=10

Using Median formula:

Median =I+[n2—cf]xh=I+[n2—cf]xh

=20+ [(18 - 7)/15] x 10

=20 + (11/15) x 10

=20 + (110/15)

=20+7.33

=27.33




Merits 1) Arithmetic mean rigidly defined by Algebraic Formula.
2) It is easy to calculate and simple to understand.
3) It is based on all observations of the given data. 4) It is capable of being treated
mathematically hence it is widely used in statistical analysis
Demerits 1) it can neither be determined by inspection or by graphical location.
2) Arithmetic mean can not be computed for qualitative data like data on intelligence honesty
and smoking habit etc.
3) It is too much affected by extreme observations and hence it is not adequately represent data
consisting of some extreme point.
Or
arithmetic mean.

AH Marks foenflashreen
No. of students

5
10
15
10

5

x =2 f,/N
270/45=6 Marks
% age of expenditure 40 30 20 10

Exp of comof 360° 144 108 72 36
Or

Right Point plot with different line/curve , value on both axis, table showing data with graph,
scale and overall

X X Y |y




NOTE: USE FORMULA AND STEPS
ANS=0.96

Grouping table

Analysis table

Mode Group 40-50

Z= L1+ (fi-fo)/2fi-fo-f2*i
Z=40+(23-15)/(2*23-15-22)*10
Z=48.89

Statistics deals with collection, presentation, analysis and interpretation of quantative 6

information.

Characteristics of Statistics

Statistics are numerically expressed.
It has an aggregate of facts.
Data are collected in systematic order.
It should be comparable to each other.
Data are collected for a planned purpose.
Or

‘The Government and policy makers use statistical data to formulate suitable policies of
economic development’. Illustrate with two example
Statistics is useful in analysing economic problem such as growing population, rising price,

demand and supply, unemployment, poverty etc.

Any two example related to use of statistics by the Govt to analysing ,to understand and to solve

the economic problems
(or relevant answer)

The CPI is one of the most commonly used tools to measure inflation and deflation.
Inflation is an important indicator of an economy's health. Governments and central banks use
the CPI and other indices to make economic decisions

The production of index numbers is fraught with challenges. Following are the difficulties
faced in the Construction of Index Numbers —

1. Difficulties in Choosing a Base Period:

2. Problem in Commodity Selection:

3. Problems in Price Compendium:

4. Difficulty in Choosing a Statistical Approach:

5. Difficulties Resulting from Changes Over Time:

6. It is not possible to make a comparison:




7. It is not possible to make comparisons between different locations:

8. Not Appropriate to Individuals:
Or

Base Year Current Year

Price | Quantity | Price | Quantity
pO qg pl ql

10

5

12

2p.Qo = 1935

(i) Laspeyre's Method
P01=Zp1qoZpogo* 100
=1935/1555%X100

124.44
p01=2p1q0Zp0q0x100
=1935/1555%100
=124.44

(i) Paasche's Method
P01=%p1q1/Epog1X 100
=23741908%100

=124.42
p01=Zp1ql/Zp0q1x100
=23741908%100
=124.42

(iii) Fisher's Method
pOl:\/Zp1q0/2poqoX2p1q1/2poq1>< 100
por  =V1935/1555%2374/1908 X100
=po1 =124.43
@ug- § =AY srefvE Section B Introductory Microeconomics

c) Rs.10

b) Fall
A price ceiling is the mandated maximum amount a seller is allowed to charge for a product or
service.
false.

a) Perfect Competition Market

AFC




b) Increase in Price of a commodity
Inverse
Substitute
Fall
a) Nature of a commodity

Main features of perfect competition are as under —

(i) Large number of buyers and sellers - Under perfect competition buyers and sellers are in
such a large number so that neither a single buyer nor a single seller can influence the market. It
is because each seller sells a very small portion of the market supply, similarly the demand of
each buyer is also very small in the market.

(i) Homogeneous product - The product sold in the market is homogeneous or

identical in all respect i.e. shape, size, colour, composition, etc.
(iii) Free entry and exit of firms - Under perfect competition there are no barrier to entry and
exit of firms in industry. But entry and exit may take time so it happens only in long runs.

(iv)Perfect knowledge of market- In this market all the sellers as well as buyers have the
complete information about the market situation. It means they are well aware about the product
and its price.

(v) Perfect mobility — The factors of production i.e. land, labour, capital and entrepreneur are
perfectly mobile. There is no geographical and occupational restriction on their movement. It
means factors of production are free to move from one place to another place and one job to
another job in which they get better price.

Or

Support price (Floor Price):- When government fixes price of a product at a level higher than
equilibrium price, it is called support price (or floor price). Floor means the lowest limit.
Control price or floor price is the minimum price at which a commodity can be purchased. As a
result, the supply becomes in excess of demand. Support price is fixed to safeguard the interests
of producers. This price is sometimes called floor price because it is the minimum price fixed by
the government. Government generally fixes floor price for mostly agricultural products like
food grains, sugar, etc.

According to the utility approach, a consumer reaches equilibrium where the following equality 3
IS met.
MUx/Px=MUy/Py
According to the given question:
MUx/Px =3/4=0.75
MUy/Py =4/4=
PyMUy.
is greater that PxXMUX
Thus, the consumer is not in equilibrium. In order to reach the equilibrium, a rational consumer
would increase the consumption of good Y and decrease that of good X.
Relationship between marginal cost and average cost
()When marginal cost is less than average cost, average cost falls.
(i) When marginal cost is equal to average cost, average cost is minimum.
(ili)When marginal cost is greater than average cost, average cost rises.




An increase in demand of a commaodity results in a rightward shift of demand curve which lead 4
to increase in price. It can be explain by diagram as follow-

In the diagram, demand and supply of good are equal at point E. So E is equilibrium point. At
this point OP is equilibrium price and OQ is equilibrium

quantity. When demand increases, demand curve shifts to right i.e. D1 D1, then at OP price
there is EF excess demand. This results competition among buyers which will raise the price. At
a higher price, quantity demanded will fall and quantity supplied will increase, resulting in
upward movement along new demand curve and given supply curve

This reduces the gap between quantity demanded and quantity supplied. These changes will
continue till we reach the new equilibrium point E1 where quantity demanded is equal to
quantity supplied.

Y 4

> X

Quantity

A\) Difference between micro and macro economics

Micro Economics

Macro Economics

Microeconomics is the branch of
economics which study individual
economic variable / unit.

Macroeconomics is the branch of
economics which study economy as
whole and its aggregates.

The main tools of micro
economics are demand and

supply.

The main tools of macro economics
are aggregate demand and aggregate

supply.

The main problem studied is price
determination.

The main problem studied is income
and employment determination.

Microeconomics Is a partial
equilibrium analysis.

Macro economics is a general
equilibrium analysis.

The major  microeconomic
variables  are price, individual
consumer’s demand, wages, rent,

profit, revenue, etc.

The major macroeconomic variables
are aggregate price, aggregate
demand, aggregate supply, inflation,
unemployment, etc.




Difference between Positive and Normative Economics

Parameters Positive Economics Normative Economics

Meaning A part of economics A part of economics grounded on
grounded on values, perspectives, and
information and discernment is normative
certainty is positive economics.
economics.

Nature Ilustrative Dictatorial

Outlook Objective Subjective

Deals with What actually is? What has to be?

Testing Statements can be tested Statements cannot be tested
(Trial)

Economic Evidently elucidates the Provides a solution for the
problems economic concerns and | economic concerns, based on the
issues value.

Indifference curve is a curve which shows various combinations of two goods which give 6
same level of satisfaction to the consumer.

Properties or Feature of Indifference curve-

1. IC is downward sloping - It is always downward sloping because IC assumes that the
combination of both the goods gives a certain level of satisfaction to the consumer. So, in order

to increase the consumption of one commodity consumer has to decrease the consumption of
another commodity.

2. I1C is convex to origin - It is convex to origin because of decreasing Marginal rate of
substitution (MRS). This is because, as the consumer has more and more units of X, its marginal
significance to him declines. So he is willing to give up less and less units of Y for an increment
in X.

3. Higher IC shows higher level of satisfaction - As compared to lower IC, certainly higher
IC show higher level of satisfaction. It is because higher IC has more quantity of one good
without reducing quantity of another good.

4. 1Cs do not intersect each other - Each IC represents different level of satisfaction, so there
intersection is ruled out.
Or

Consumer’s Equilibrium - A consumer shall be in equilibrium where he can maximize his
satisfaction subject to his budget constraint and does not want to bring any change in it.

Indifference curve approach explains the consumer equilibrium with the help of indifference
map and budget line.

Conditions of Consumer’s Equilibrium - If consumer is consuming two goods say good X
and good Y. Then at equilibrium point-

i) Budget line should be tangent to indifference curve i.e. slope of indifference




P
X
P

curve and budget line is equal to each other. It means MRSXY [J

i) Indifference curve should be convex to the point of origin i.e. MR Sxy is decreasing.

We canexplain it with the help of following diagram-

In diagram, AB is budget line and three indifference
curves are ICy, IC; and 1C3. The various combinations of
good X & good Y which consumer can purchase with his
given income are M, E and N. But M & N lie on IC;
whereas E lies on IC, . Since E is on higher indifference
curve, so it will give more satisfaction to the consumer as
compared to M & N. At point E budget line is tangent to
IC, , and IC; is convex to origin. So E is equilibrium
point where consumer will get maximum satisfaction by
I, consuming OX; quantity of good X and OY; quantity of
3 good Y.

Good Y

X B GoodX

Law of variable proportion or returns to variable factor - This law state that keeping other
factors of production constant, when only one variable factor is increased, in the beginning total
physical product increases at an increasing rate, then increases at a decreasing rate and
ultimately decline.

This law is applicable in short period only.

This law has three phases-

I- Increasing returns to a factor - In this phase MPP increases so TPP increases at an
increasing rate. Reasons for increasing returns to a factor are - better utilisation of fixed factor,
increase in efficiency of variable factor, indivisibility of fixed factors.

II- Diminishing returns to a factor - In this phase MPP decreases but positive so TPP
increases at decreasing rate .This phase ends when MPP is zero & TPP is maximum. Reasons
for diminishing returns is that factors of production are imperfect substitutes of each other and
after optimum combination of factors when more and more units of variable factors are
increased, pressure of production start falling on fixed factors and MPP start decreasing.
I11-Negative returns to a factor - In this phase MPP becomes negative so TPP decreases. It
happens when variable factor become too much as compared to fixed factors then coordination
between variable and fixed factor become very poor and efficiency of factors decrease.

Explanation: The law of variable proportion can be explained with the help of a schedule and a
diagram as follows.

6




Fixed factor Variable
Land in acres factor [Units]
1 0

10

30

60

/ Total Prochuct

80

90

90

\ X 10 80

Units of Variable Factor MPP

Marginal Product

In above table and diagram-

CIFirst unit to third unit MPP increasing so TPP
increases at an increasing rate.

Therefore it’s a phase of increasing return.

[JFourth unit to sixth unit MPP decreasing but
positive & TPP increases at decreasing rate.

Therefore it’s a phase of decreasing return.

[1Sixth unit onward MPP become negative & TPP
is decreasing. Therefore it’s a

phase of negative return.
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PART -A
HIT T
STATISTICS FOR ECONOMICS
srelyTreE & foq wiftersht

1. Which economic activity deals with manufacturing of goods?
a. Consumption
b. Exchange
c. Production
d. Distribution
9. W T A iafafer awqett % fmior & weifaa 27
) ELEi]
) AT AT
) IcqTEd
) foraor
2. The word “statistics” used as:
a. Singular
b. Plural
C.. Singular and Plural both
d. None of These




R. e "wifedl" % w9 § W= o ST
&) oo

E)EGERE]

H) UHEeH SR FgIed aFl

T) T a wE

. The quickest method to collect Primary data.
a. Direct personal investigation
b. Indirect oral investigation
c. Telephone interview
d. Mailed questionnaire method
3. TR 2T U A T T AT i)
) YeaeF SAfRTa STt
) I HIRgH S
) AR ATATERR
T) T Yamaat faf
In an ordered series, the data are:
a. Indescending order
b. Inascending order
c. Eitheraorb
d. None of these
¥. U ShHES e H, 320 &
37) ged H H
q) wed A
) Farcars
T) T W FIE G
. The heading of the row given in the first column of a table are called:
a. Stubs b. Titles
c. Captions d. Prefatory notes
&, foreft drfersht % Tect e | & ¢ Ufth % v Feard &
3 )eesH
q) A
) e
T) Hitedt AeE
Or
State the meaning of the term ‘Variable’
"afardHtT wTeg T 379 SIaTg

. The value of all the items taken into consideration in the calculation of:

Median

Mean

Mode

Index number

&, TUET A 7 T TS T Tl e
) IR
§)  we
) He

3) HEhih




7. Medianof 2,3,8,4,9,6,5,is

9

Define Mean
AT TRATNA Y

. The correlation between sale of woolen cloth and summer season is:
a. positive correlation
b. negative correlation
c. Zero
d. None of these.

¢. S Fug Y forshr ofiv miff 3 wiem & e wee @
A)  THNICHS Hele
E)) TRIICHS TS
@ =
) T 8 HE T
9. What are limits of the coefficient of correlation?
a. -land0
b. No limits
c. 0and1
d. -1and 1 including the limits
], HEHeY & TUTieh s ST FT §2
) -13R0
) e
) O0sirl
) -1 3k 1 < wfed
. In most of the weighted numbers, the weight pertains to:
a. Base year
b. Current year

c. Both current year and base year.
d. None of these.

%0, SAfereRieT WG HEATeT § WR Heiferd grar &
1) SR
E)) EISEL
) =T A R TR ¥ 1
g) T | IS T
11. Find out the median from the following data.
X 106 150

Y 5

2%, FrfaRaq stferet & wifasht 1 HIR,
X 106

Y 5




12. What kind of relationship exist between X and Y, if the point of scatter diagram falls near a

straight line with negative slope. Use diagram in support of your answer.

OR

3

On what basis does the base year taken into consideration to calculate index number?

8. A Thet AT 1 g FOMcHF S ATt U Hirelt wam o T a1man 2, a1 X 3R Y & off=r fore e o1 iefer 2T @1 o1

I o AL | TG T T shifsr)

ar

i SEAT hl TUFT o T AR Y i fohd SR T & § @1 St 87
. Draw Histogram and Frequency polygon with the help of following data.

Wages

0-20

20 - 40

40 -60

60 -80

80 - 100

No. of Workers

28

46

54

42

30

OR

Present the following data with the help of suitable diagram.

YEAR

Production (in ‘000 tonnes)

Wheat

Rice

Cotton

2014

35

22

10

2015

15

25

16

2016

40

12

20

frfafaa stieret il TERaT € STRq o 3 THERAT g T3

Wages

0-20

20 - 40

40 -60

No. of Workers

28

46

54

ar

frefefaa stihet 1 37w TR T wemEdT § e Hif

e (1000

T H)

EL

b

EIEN]

2014

35

22

2015

15

25

2016

40

12

. Write the four uses of consumer price Index Number.

OR

Define Mode. Write its three Demerits.

2. ITNIHT T Fahieh o = SWANT fafag]
b

HIS I TRHATNG il §0 dIF Y fAfag)
15. Compute the coefficient of rank correlation from the following data.

X

87

22

33

75

Y

29

63

52

46

. Frfafaa stferst & 1o wessy % ol T TUMT H

X

87

22

33

75

Y

29

63

52

46

16. Use Ogive to represent the following data and locate the Median.

Marks

0-10

10-20

20-30

30-40

40-50

No of
Students

10




OR
Calculate Karl Pearson Coefficient of correlation from the following Data.
X 10 12 14 12 16 20

Y 22 26 24 27 31 33

28, FfRad stiehel 1 &M 7 o foTg TRt 1 S hifSe 7R wfeersht J1a i)

37 0-10 10-20 20-30 30-40
ah
BET T G&qT 10

FTeyaT
Ffafiaa stierel § dedse o Ficl e uTieh i TUHT SHifag|
X110 12 14 12

Y 22 26 24 27

17. What are the different uses of index number? Explain any two.
2, 339 FeR o fafir= o == B7 fonedi o i =amen hifsi,

PART B, I st

INTRODUCTORY MICRO ECONOMICS  uftrmens gen steizme
18.  Which of the following statement is false?
(@) PPC slopes downwards. (b) PPC is concave.
(c) PPC is slope upward. (d) PPC is not convex.

OR
Which of the following is the cause of economic problem?
(@) Scarcity of resources (b)Unlimited wants
(c) Resource have alternative uses (d) All of these
frafeafaa © & & o1 s sEe 872
() et frer <At 3R e | (aft) it sraae 71
() oot U Y R T 2 () didfiet sTe 78 7
areraT
frferfaa & & S efeieh TowaT T ST 27
(w) wareat i wHY (&) st =mear &
() TETeA % JehRfeusw ST § () ¥ asfn
19. When marginal utility is zero total utility will be 1
(@) Zero (b)100 (c) Maximum (d) minimum
T Hia ST I B A et A
(v) o= (&) 100 (eft) arfeorepem () =aw
20. Any statement about demand for a good is considered complete only when the following is/are
mentioned in it (Choose the correct alternative) 1
(a) Price of the goods (b) Quantity of the goods
(c) Period of time (d) All of the above
Toret areg Y 7T o AR § g off oA aeft qut AT A @ W s et w5 seora R wan & ((w@ e o)
(T) =g i hwa () =g <t AT
(&ft) T <6y arafer () s avft
21. Floor price is set at level by government to protect the
@ Above the equilibrium price level, consumer
(b) Below the equilibrium level, consumer
(c) Above the equilibrium price level, Producers




(d) Below the equilibrium level, Producers

(sft) SaSIET, T FW ok AT
(+ft) ScaTaent, HTEH Ted TR A FA
() Scarenl, A TR A AT
Read the following statements Assertion (A) and Reason (R). Choose one of the correct
alternatives given below: 1
Assertion (A) -Demand for salt is inelastic.
Reason (R) - In case of elastic demand, percentage change in price of the commodity causes
relatively less than percentage change in quantity demanded.
Alternatives:
a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of Assertion (A).
c) Assertion (A) is true but Reason (R) is false.
d) Assertion (A) is false but Reason (R) is true.
FreferRam et i ug iR (T) ot SRt (aTR)| e faw o foskedt & & ve wet foehe 9:
a1freRorT (T) -7weh I Wi Aeirarer Bt 31
HIOT (AR) - TSGR TR & TS W, 5] ot hivd H Tfarerd afard 7R 6t 9= § gfaerd & w0 aied s ot s=ar
Bl
frereu:
%) TR (T) 3R SROT (ATR) FHT O § 31 RT (AR) aAfiswe (T) St 9t sameT 2
@) %A (T2 HROT (3AR) T T & 3R HROT (AR) AfrhaT (T) A 7 e T4 2
) arfreRe (T) UEt ¥ AfehT SR0T (3TR) T 2
) =1aT (T) T € SAfehT SR (IR) T 2
. Read the following statements carefully:
Statement 1- Tea and coffee are substitute goods.
Statement 2 —Car and petrol are substitute goods.
In the light of the given statements, choose the correct alternative from the following:
a) Statement 1 is true and statement 2 is false.
b) Statement 1 is false and statement 2 is true.
c) Both statements 1 and 2 are true.
d) Both statements 1 and 2 are false.
Freafafaa wut & s o ug:
Ho 1- A 3R SRR T FEY
FHUT 2-HR IR UL T SEqE 2
feu v werT & etrereR W, FfeTRaa W @ wE Rerew w6 wwe il
%) o 1w ¥ o w2 TTera B ft) e 1 Tera ¥ SR e 2 U B
) w1 3R 2 g we # ) e 1 @R 2 ST | B
. Read the following statements carefully: 1
Statement 1- There are large numbers of buyers and few sellers in the perfect competition market.
Statement 2 - In perfect competition market products are heterogeneous.
In the light of the given statements, choose the correct alternative from the following:
a) Statement 1 is true and statement 2 is false
b) Statement 1 is false and statement 2 is true
c) Both statements 1 and 2 are true.
d) Both statements 1 and 2 are false.
FraferfRaa st =t ea= o ue:
o 1- qut afenfieT e # T s § Tier R F faskar g #)
HUT 2 - Ut TferaiRraT § AR % Iearg it g




fow o weoAT & artentes ®, Fafafaa & @ vt faemew w1 T i
%) we 1 O ¥ o shue 2 Tota § oft) we 1 et B iR e 2 T
) T 1 3R 2 g T B ) e 1 it 2 3t ermed
When price of a good falls from Rs 15 to Rs 12 per unit means a fall of 20% in prices, its
demand rises by 25%.Price elasticity of demand will be 1
-15/12 (b)  -12/15 (C) -25/20 (d)  -20/25
e uek aeg Y e 15 wudr & feew 12 sudr ufe gentd @ St 7, @kt #§ 209 < frrae St 7, oy 7w #
25% <t gz Brelt 71 =i fy Hrwa e gl
(v) -15/12 (sft) -12/15 (sft) -25/20 () -20/25
. Definitely producer will do in supply, if the price of normal goods increases.. 1
Minimise (b) Decrease (c) Increase (d) Stop supply.
OR
Read the following statements carefully:
Statement 1-When TR increases at increasing rate then MR also increases.
Statement 11-When TR increases at a diminishing rate then MR decline.
In the light of the given statements, choose the correct alternative from the following:
a) Statement 1 is true and statement 2 is false b) Statement 1 is false and statement 2 is true
c) Both statements 1 and 2 are true d) Both statements 1 and 2 are false.
ffera wa & Fmtar omafd & T, afy amr S fY T 9 A 2
(mwwdwm () wh () () amafd otz =0
qr
Frafefaa wut &t ea= o e
FHoA 1- o &R, Tt R A agar 3 @ Anet aer ot agar )
o || 91 2., wedt o & 9gar § dt Arelt Ted g AT gl
feu U werT & etrereR W, FfeTRaa W @ wE ferew w6t wm il
%) w1 ue § 3R w2 Terd B b) wem 1 Teta § 3R wem 2 e B
) w1 3R 2 S T F d) e 1 @R 2 ST | 2
27. In a perfect competition market a firm is a price taker and market is a price maker
is horizontal straight line parallel to x-axis. 1
(@ Marginal Cost (b) Total Cost
Marginal Revenue (d) Total Revenue
TS Ut TTaraT IR H U WH U Hed o ATet gt § S aTaR U Hed futar g
T3k X-2187 & THTIAR Sferr dveft a2
(v) drwia emra (&) weramra (4 dwia T @) w1 TR
28. Explain the central problem of in ‘‘choice of technique’’. 3
AR o AT T Shea 9 THEAT Shi ST shifm)
29. What is the price ceiling? What is the common purpose for the price ceiling imposed by the
government? 3
OR
“In perfect competition market a firm is said to be price taker and market is said to be price
maker”. Explain.

T WA T 37 AR ZRT TS 7T Hed HHT T ST 3299 9T 87
o

TUT IFETRIAT TR § Tk %H sl Jod o JTell el AT § SR SR i Jod fatar set amar 8| gwsim)

30. Explain with diagram the difference between increase in demand and increase in quantity

demanded of a good.
Torelt areq <t Wi & Afeg qorm wi Y 7T # gig ¥ o @i fow g wuw it




31. Complete the following table:
Output Average Fixed Average Variable Marginal Total

(units) Cost (Rs) Cost (Rs) Cost (Rs) Cost (Rs)
1 120 40
60 56

2
3
4

(zerrza)
1

2
3
4

32. What is the law of variable return to factor? Explain with the help of numerical example and
diagram. 4
OR
Differentiate between Fixed factors and Variable factors of production.

HF W AREAe Tfathet w1 fFam o ar 37 Seareqe: ISt 3R Y@ 6 ggrEar ¥ Wy Hifkm)
2L
3UTET % fRer T 3 SUTE & UREdAyier hiehl | 3taX TqE i)
33. Explain consumer equilibrium with the help of indifference curve analysis.
OR
A consumer consumes only two goods X and Y whose prices are Rs 5 and Rs 4 respectively. If
the consumer chooses a combination of the two goods with marginal utility of X equal to 4 and
that of Y equal to 5, is the consumer in equilibrium? Why or why not? What will a rational
consumer do in this situation? Use utility analysis.
JETEiaT ok fApwor Y FETEar § Ui dge ht sarean S
a1
T IJUHIHT halet &Y Fegeit X ot Y ot 3uwir et & Kbt e swon5
T 3R 4 Tod B1 e sasiwr X st dimia sadiiiar 4 o ek @K Y v 5 o s duta SudiiEr & e e
TEFAAT T TAIT AT &, AT FT ST S A 37 4 av w67 36 Rufy § v adhwa susiiet wn wen?
IgFifraT farsywor st g=T W=
34. Explain with numerical example and diagram the conditions of producer’s equilibrium in terms of

marginal revenue and marginal cost. 6
Hiia T R Hia AN & el § IeuTaeh % Haer i Rufrat i SeaTere IETENT 3R ST 3 T HHES|
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SCORING KEY
EXPECTED ANSWER MARKS

d) Production 1
c¢) Singular and Plural Both

c)Telephone interview
c)Either (a) or (b)

a) Stubs
(or)
Not consistent,liable to change
b)Mean
() 5
(or)

It is an average of all items in a series

(b)Negative Correlation
d)-1 and +1 including limits
a)Base Year

Formula (median)

(N+1)/2

Steps for calculation

Ans =152

High degree negative correlation

Diagram (or)

It is the reference year

It should be a normal year

It should be the year with out much ups and downs
Diagram -Histogram

Diagram - frequency polygon

(steps and procedures for constructing histogram and
drawing frequency polygon) (or)
Any suitable diagram can be used

Multiple bar diagram may be a better choice

(steps and procedures for constructing diagram )

a) Formulation of price policy

b) Wage adjustment

c) Measurement of real value of rupee

d) Analysis of market

(or)

It is the value which occurs most frequently in the series
Demerits: a) uncertain and vague




b) not capable of algebraic treatment
c)difficult procedure of grouping
(similar points can be considered )

2
F=l-6 > . d ,
NN*-1) (formula)

Steps for calculation

Answer
(Ans = (-1)
Perfect negative correlation.
Calculation of cumulative frequency
Completion of table.
(a)steps and procedure for drawing o gives
(b)location of median

(or)

Steps for calculation
(Ans=0.96)
Formula:

_ n(Txy) -~ (ExHZv)
V [ nEx? - (Ex2] [ nEy? — (Zy)3]

T

Ans =(0.96)

High degree positive correlation

17) a)Measurement of changes in price level
b) Measurement of change in standard of living
c) Useful to government

d) Useful to business community.

(Brief explanation of any two)

PART B MICRO ECONOMICS
EXPECTED ANSWER

Q1 Which of the following statement is false?
ANS- (c) PPC is slope upward. OR

Which of the following is the cause of economic problem?
ANS- (d) All of these
When marginal utility is zero total utility will be
ANS-(c) Maximum
Any statement about demand for a good is considered complete only when the
following is/are mentioned in it (Choose the correct alternative)
ANS-(d) All of the above
Floor price is set at level by government to protect the
ANS-(c) Above the equilibrium price level , Producers
Read the following statements Assertion (A) and Reason (R). Choose one of the
correct alternatives given below:
Assertion (A) -Demand for salt is inelastic.
Reason (R) - In case of elastic demand, percentage change in price of the
commaodity causes relatively less than percentage change in quantity demanded.
Alternatives:
ANS-(c) Assertion (A) is true but Reason (R) is false.
Read the following statements carefully:

Statement 1- Tea and coffee are substitute goods.




In the light of the given statements, choose the correct alternative from the following:
ANS- (a) Statement 1 is true and statement 2 is false.

Read the following statements carefully:
Statement 1- There are large numbers of buyers and few sellers in the perfect
competition market.
Statement 2 - In perfect competition market products are heterogeneous.
In the light of the given statements, choose the correct alternative from the
1following:
ANS-(d) Both statements 1 and 2 are false.
When price of a good falls from Rs 15 to Rs 12 per unit means a fall of 20% in prices,
its demand rises by 25%.Price elasticity of demand will be
ANS-(C) -25/20
Definitely producer will in supply, if the price of normal goods increases..
ANS-(c) Increase
OR
Read the following statements carefully:
Statement 1-When TR increases at increasing rate then MR also increases.
Statement 11-When TR increases at a diminishing rate then MR decline.
ANS- (c) Both statements 1 and 2 are true
In a perfect competition market a firm is a price taker and market is a price-maker,
curve is horizontal straight line parallel to x-axis.
ANS-(c)  Marginal Revenue
The problems of how to produce is a problem relating to choice of technology.
There are two techniques of production: i) Labour Intensive Technique in which
labour is used more than capital. ii) Capital Intensive Technique in which capital is
used more than labour.
An economy must decide as to which technique is to be used so that efficient
production is obtained. It is the central problem in every economy because it impacts
production or efficiency on the one hand and the degree of employment on the other
hand. Higher productivity often implies a lower degree of employment.
Price Ceiling: Price ceiling means the maximum limit that the government imposes
on the price of a commaodity.
Price ceiling are used by the government to Prevent prices from being too high. The
main reason for imposing price ceilings is to protect the interests of the consumers in
situations in which they are not able to afford needed commaodities.
For example during the recent rise in the prices of pulses. Consequence: Shortage of
the commodity and Rationing: In case of price ceiling the quantity actually supplied
in the market will shrink; as a result a large chunk of consumer’s demand will go
unsatisfied. To deal with such a situation the government may resort to rationing of
the commodity.
With suitable diagram

A price ceiling makes high prices illegal

Demmand Supply

a4 lllcgal
¥ Legal

Q4 Quezamntity




OR

Under perfect competition, there is a large number of sellers selling a homogenous
product. The price of a commodity under perfect competition is determined by the
forces of demand and supply of the product alone in the market so market is called
Price Maker.

Every seller accepts the price as given/determined by the industry. No individual firm
can influence this price. It only has to decide how much quantity of the commodity it
wants to sell. It is because of this that the seller under perfect competition is a price
taker.

If a firm in a perfectly competitive market raises the price of its product by so much
as a penny, it will lose all of its sales to competitors.

Increase in Demand Increase in Quantity Demanded

1. Increase in demand refers to | Increase in quantity demanded refers to
increase in the purchase quantity of | increase in the quantity purchase of a
a commodity at its existing Price commodity due to a fall in its price.

2. Increase in demand occurs due to | Increase in quantity demanded occurs
change in factors other than price of | due to change in price of the commodity
the commodity.
3. Diagrammatically this is shown | Diagrammatically this is shown by a
by a forward or backward shift in | downward movement on the same
demand curve. demand curve.
Example-Changeinincome, Change in price only(Diagram).
Technology, Taste, etc(Diagram)

31 Complete the following table:

(units)

Output | Total

Cost (Rs)

Average
Fixed
Cost (Rs)

Average
Variable
Cost (Rs)

Marginal
Cost (Rs)

160

120

40

40

232

60

56

72

282

40

54

50

336

30

54

54




Law of Variable Proportions or Returns to a Factor

This law exhibits the short-run production functions in which one factor varies while the 1
others are fixed.
The law states that keeping other factors constant, when you increase the variable factor,
then the total product initially increases at an increases rate, then increases at a
diminishing rate, and eventually starts declining.
h
+

6o I (TP is Maximum)

M

TPMP (in units)

S0
40
30
20

10 N (MP is Zero)

1 i A1
o 1 2 3

— Ve
Units of Variable Factor

Fixed factor | Variable | Total Product | Marginal Return
factor Product

3

10 Increasing return
15

20 Decreasing return
10

0 Negative return
-10

OR

Fixed factors Variable factors

Fixed factors of production are | \/ariaple factors of production are those

those factors which can’t be |t .ioc \which can be changed with the
changed with the change in the .
change in the level of output.

level of output in short run.

Can change only in long run Always variable in short as well as long

run
Example-Land ,Machine, Building Labour, raw materials etc

etc

Cost of fixed factors can’t be zero Cost of Variable factors is zero at

even at output is zero. output is zero.

2Cost is fixed Cost will be directly proportion to

output.

33 Consumer’s Equilibrium in Indifference Curve Analysis is defined as a situation
when the consumer maximizes his satisfaction, spending his given income across
different goods with the given prices.




Here, the indifference curve and budget line are used to determine the consumer
equilibrium point. Indifference curve analysis helps to find out how the consumer
spends his limited income on the combination of different goods to get maximum
satisfaction.

Consumer's equilibrium is the amount of goods the consumer can buy in the market given
his/her current level of income. There are two conditions for consumers equilibrium:

1) The first is that the budget line should tangent to the indifference Curve .

if) The marginal rate of substitution of good X for Good Y (MRSxy) must be equal to the
price ratio. i.e MRSxy = Px/Py.

Slope of indifference curve= = Slope of Budget Line

The indifference curve should be convex to the origin at the point of tangency.

Explanation: In fig, AB is the budget or price line, and IC,, IC, and IC3 are
indifference curves. A consumer can buy any of the combinations whether E,F,G,H
of chocolates Dairy Milk, shown on budget line AB. He can’t buy any combination
on ICzas it is beyond the budget line AB. But, he can buy those combinations which
are not only on the budget line AB but also coincide with the highest indifference
curve which is IC,.. the consumer will be at equilibrium at the combination E.
Because, at this point, the budget line AB is tangent to the highest indifference curve
IC,. No doubt, he can afford the combinations F and G as well but these will not give
him the maximum satisfaction as these combinations belong to the lower indifference
curve I1C;.

It means, that the consumer’s equilibrium point is the point of tangency of the budget
line and indifference curve. At point E, the slope of the indifference curve and budget
line coincides. Here,

The slope of the indifference curve is indicative of the marginal rate of substitution of
commodity-1 for commodity-2 (MRSxy).

The slope of the budget line is indicative of the ratio of the price of commodity-1(P1)
and the price of commodity -2(P).

Consumer’s Equilibrium by
vy Indifference Curve Approach
b

Consumer is at equilibrium at
Point E, when budget line AB
is just tangent to ‘IC’

M =
. IC,
S ey

OR

Given, PX=Rs. 4; PY=Rs. 5; MUX=Rs. 5; MUY =4

The consumer attains equilibrium when

MUX/PX=MUY/PY

In the given question, the consumer is not in the equilibrium because here,
MUX/PX>MUY/PY

Using the given values, 5/4>4/5

The consumer would react to this situation by increasing the consumption of good X
in place of good Y. As consumption of X is increased, MUX will start declining.
Likewise, fall in the consumption of Y would cause a rise in MUY. The process of
substituting X for Y would continue till MUX/PX (rupee worth of MUX)

and MUY/PY (rupee worth of MUY) are equal and the equilibrium is achieved.




Producer’s equilibrium refers to the state in which a producer earns his maximum profit or
minimise its losses. According to MR-MC approach,
Two conditions under this approach are:
() MR=MC
(i) MC curve should cut the MR curve from below, or MC should be rising.
As long as the addition to revenue is greater than the addition to cost. It is profitable for a firm
to continue producing more units of output. In the diagram, output is shown on the X-axis
and revenue and cost on the Y-axis. The Marginal Cost (MC) curve is U-shaped and P ~ MR
= AR, is a horizontal line parallel to X-axis.
MC = MR at two points Q1 and Q2 in the diagram, but profits are maximised at point Q2,
corresponding to Q 10 level of output. Between Q2 and Q10 levels of output, MR exceeds
MC. Therefore, firm will not stop at point R but will continue to produce to take advantage of
additional profit. Thus, equilibrium will be at point Q2, where both the conditions are
satisfied.
Situation beyond Q2 level: MR < MC When output level is more than Q10, MR < MC,
which implies that firm is making a loss on its last unit of output. Hence, in order to maximise
profit, a rational producer decreases output as long as MC > MR. Thus, the firm moves
towards producing O Q units of output.
Table 1. MR, MC and Producer’s Equilibrium

Q (Units of Output) MR () McCc R)
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Note: Fig. 1 is drawn on the assumption that AR is constant
for a firrm and is equal to OF. It is as in a situation of perfect
competition. Constant AR implies constant MR. Accordingly.
AR = MR, and both are indicated by a horizontal straight
line, parallel to X-axis.




PART- ASTATISTICS FOR ECONOMICS

BLUE PRINT

Forms of Questions current unit MCQ Short Short Long
(IMark) | Answerl | Answer2 | Answer
(3Marks) | (4Marks) (6Marks)

Introduction;
& 1(2) 3(2) 4(1) 6(1)
Collection, Organisation &
presentation of data

Statistical tools and 1(8) 3(1) 4(2) 6(1)
interpretation

PART-B INTRODUCTORY MICROECONOMICS

Introduction 1(4) - - -
Consumer’s Equilibrium & 1(2) 3(1) 4(1) 6(1)
Demand

Producer Behaviour & Supply 1(2) 3(1) 4(1) 6(1)
Forms of market & Price 1(3) 3(1) -- -
determination under Perfect
competition

Total 1X21=21




CLASS XI - ECONOMICS -2022-23
SAMPLE QUESTION PAPER FOR SESSION ENDING EXAMINATION
ECONOMICS SET-3

CLASS X1
MAXIMUM TIME :3hr MM:80

w3 EHe itr80 :

GENERAL INSTRUCTIONS
1) All questions in both the sections are compulsory.
2) Question Nos. 1-10 and 18-27 are very short questions carrying 1 mark each. They are required to be
answered in one sentence each.
3) Question Nos. 11-12 and 28-29 are short — answer questions carrying 3 marks each. Answer to them
should not normally exceed 60 words each.
4) Questions Nos. 13-15 and 30-32 are also short answer questions carrying 4 marks each. Answer to
them should not normally exceed 70 words each.
5) Question Nos. 16-17 and 33-34 are long -answer questions carrying 6 marks each. Answer to them
should not normally exceed 150 words each.
6) Answer should be brief and to the point and the above word limit be adhered to as far as possible.
=T fee-
1) <t &t & wft war tfar 2
2) war weanl-10 il 7-27 31 o Sk e 2, $h Seetiiehan us A 7 i
3) war w1l — 12 i 28-29 @ I 4 &, e o forr stfershan 3i% 03 2, $et I safeeram 60zreat # o
4) e gel3 -15 i 30 -32 w9 I v 2, T&F & ot Aferepan st 04 2, 371 I Aferskan 70 wrar 7 AR
5) wy wenl6 -17 3t 33-34 farqa Saia 94 7, T o ford 21w 37k 06 7, 371 3 a1fershaw 150 wrsar & i
6) e wiferw S feig o forg T =Nfey iR IuXieh Sreq HAT s JerEyE gTe foha STHT =iy
PART A (STATISTICS)
Q1.  Which of the following is not a feature of a good questionnaire?
a) Limited number of questions
b) Proper order of questions
¢) Help in cross verification
d) Based on calculations
fr=fafaa & & = H e 3=t gt it fawwar T2 82
% ) difa g g
@ ) 3@ e o w
T) g | Heg
) TOHT 9T AT
Bar diagram is a:
a) One-dimensional diagram
b) Two-dimensional diagram
c¢) Diagram with no dimension
d) None of the above
TG R
% ) UhfaH &
w ) fafaw smw@
T) fom ea e
T ) 3 & B T

OR
A questionnaire is
a) A list of answers
b) A list of objectives of the investigation.
c) A list of questions pertaining to the investigation.
d) A list of data.




ERIEKRCN
& ) I b g B
@) ST F ILTAT HT T Al @
T ) ST O SATATNG Wit hY U g Y
) 3RS i TF g §
The shape of ‘Less than Ogive’ is :
a) Rising Upward
b) Falling Downward
c) Parallel to X-axis
d) Parallel to Y-axis
¥ TROT HT HATHN
) WA AR 33T gIAT R
W) = it AR e gor 2
M) X 3781 & TR 7
®) Y 1% % gueie §
The mean of five numbers is 30. If each of these five numbers is divided by 2,
then the new mean will be:
a) 15
b) 60
c) 28
d) None of these
uter 3feRt T TR "A1er 30 € | 9fe 39 ute § 9 9wk 37k 1 Q1 | W foRar STt A aeeial ST
BRTT :
F) 15
@) 60
1) 28
") 7 a i T
Define the term Median.
nftzrent it uftam dfse |
If the slope of the straight line in a scatter diagram is negative then the
correlation between the variables is:
a) +1
b) -1
C) zero
d) None of these
wehIvt ST § Afe wieft W T @Te SHTTeHe & d =1 o s
EESELR e LIRS
&) +1
) -1
)
) 3 g FE T
The Paasche index number is based on:
a) Base year quantities
b) Current year quantities
c) Average of current and base years
d) None of the above
YT T AR AT &

) TTuR I % gRETT 7T
W) dHH ¥ & i |




7)) ITHH T TR a9 % AT W

) w0 i T
A, A1 X 100 is the formula for specifically measuring :
Aq
a) Consumer Price Index
b) Rate of Inflation
¢) Wholesale Price Index
d) None of these
AZ—Al X 100 @WW%WW’&WW%
Aq
) I HIHT G I
) w1 -whifer T H
aT) oiveh HHa Faehih B

) 0§ FiE T
Consumer Price Index numbers are used by the Governments to frame policies
(Prices/ Quantities)
w Hifeat s & foe frar Sar & | (et /

Choose one of the correct alternatives from the given Assertion & Reason:
Assertion(A): Rajiv scored 57 in Mathematics, Ravi scored 98 in
Statistics, Anita scored 45 in Economics. The given data
Is statistical data.
Reason(R): The statistical data needs to be numerical in nature.
a) Both Assertion(A) & Reason(R) are true and R is the correct

explanation of A.

b) Both Assertion(A) & Reason(R) are true and R is not the correct
explanation of A.

c) Assertion(A) is true but Reason(R) is false.

d) Assertion(A) is false but Reason(R) is true.

faq @ aAfirper(A) T wron(R) i s @ wE faehed 1 IHE wi
srfireRem A Tsfia 3 iftra § 57, tfa 7 wieeht § 98 ot
Frftar = srefeme ° 45 st yrw foRd [ 7w otiee
e Tiws § [
&Rt R : 9wy ofihe d@arens g =y |
% ) 2AfrRer(A) 3 FRon(R) 3HT we & it Fron(R) aifirkerm(A) it @@t foawor € 1
@ ) sfuseA(A) i Fro(R) AT aer § ot #no(R) stfueper(A) 1wt foawor 78 2 1
T ) sAfireA(A) ¥ 8 | Fo(R) e ® 1
7 ) sAfReA(A) Tad 8 W FRo(R) w&r R 1
Following are the wages of 19 worker . Calculate Arithmetic Mean using
Assumed Mean Method.
19 sttt w1 3o = feam w21 wfeaa wrex faftr grr aumiR Aex w aftehe

Wages/a (Rs.) | 10 20 30 40 50

No. of 4 5 3 2 5

workers/sfisnt
e

OR(ererar)
Following is the daily income of eight persons in a locality. Calculate
arithmetic mean using step deviation method.




T AT H @ Tl 3776 SATRAT i 3k I A A e R
ve -forrer faftr gro wamiae wren 9 Hifsg
Monthly Income/mfa=s s (Rs.) : 70, 30, 500, 60,20, 250, 10, 40

The following table gives the data on the marks obtained by three students in
four subjects. Represent the data using a Multiple Bar Diagram.

ot ferenfefe grr =m forwert i ste e wmoft § faw g &) 37 stiwet & 9 -4 3T gWT sy |
Subject/frw= | Hindi/=t | Pol.Science/ | Geography/sgiter | History/sfezma
T ST
Lekha/erar | 85 78 98 88
Seema/sr | 90 96 96 92

Bharti/smt | 80 70 75 80

Calculate median from the following figures.
frefeftad otienet St demaT & At 1 afehe Sl

Class interval/at | 10-19 | 20-29 | 30-39
St

Frequency/smsmr | 12 19 20

OR st
Find out mode value from the following data:
freafaflaq stishst 1 Herdr & Sgh F1d il
Mid 15 25 35 45
value/m=r
HF

Frequency/ | 5 8 15 4 6 7
ST

Calculate correlation between values of X and Y using Karl Pearson method.
ahret -dfiE fafer g X qen y i o sfte ge-waie it T

X 2 3 1 5 6 4
Y 4 5 3 4 6 2

Explain the following problems faced in the construction of Index Numbers:

a) Selection of Base Year.

b) Selection of goods & services.
et o fmior § o1 areft fefafaa wiemsat i ausmsw:

) AR ¥ H I

W) FEGAT T HarsAl 1 I
Define Classification of Data. Bring out the difference between Qualitative &
Quantitative classification of data.
HitweT o afieptor hi afedTT AT STTHST 6 TN o HEATH afiehtur o s 3 T8 H
Calculate standard deviation from the given data using Assumed Mean method.
fau 1w STiewgt T wEwAT & W e g1
Age(yrs)/smg(ad) | 20- | 25- | 30- |35 |40- |45 |50-
25 30 35 40 45 50 55
No of 17 11 8 5 4 3 2

workers/sH=nfa
& wE




OR st
Calculate Mean Deviation and its co-efficient from Median using the given

data.
fau g stiegt At weTar & Wit T Fd 5T AT foree qut wre forere Ui I

Size of item/se =1 | 15 20 25 30 35
IELS

Frequency/smiamar

PART - B (MICRO ECONOMICS)
QUESTION
Which indifference curve represents the highest level of satisfaction?

I AT SR 5 Ioaad T HT FqE T HAT ?

1G4

Goad X T

Indifference Map

(@) IC1
(b) 1C2
(c)IC3
(d) none of these/z & =1g &
Suppose the price of good X is Rs.8/- and the marginal utility(in Rs.) for

four units is given as:
1 oo 1 areq X o1 e .8 /- & 3w et 3 forg gerhn dhwia swfin(ee F ) 3@
TRER TS R

Units/3eré 1 2 3

4
MU/ X 41 <t s (RSSETT) | 12 10 8 6

How many units should a consumer purchase to maximise his satisfaction?

ST T ST QMY T Faritersh i & T foraedt Sepmeat wdtet =med ?

Price elasticity of demand for flowers and toys are (-)0.9 and (-)0.5

respectively. Demand for which one is more elastic & why?

Fel Td ettt st i i Fd e s (-)0.9 317 (-)0.5 71 SH H & forweht At st

et & 3R Fi?

OR st
Slope of an indifference curve is measured by:
(a) Marginal rate of substitution
(b) Marginal rate of transformation
(c) Marginal opportunity cost
(d) None of these
IETHIAT =I5k T @It ST HTIT ST €
%) e it Hiwid @ &
) wqicer i Hiid & |
7)) Hmid s1aEt anra 9
q) 3 ¥ #E T




Choose one of the correct alternatives from the given Assertion & Reason:
Assertion(A): A commodity that can be put to several uses
is price inelastic.
Reason(R): As price falls, number of buyers increase in
the market.
a) Both Assertion(A) & Reason(R) are true and R is the correct
explanation of A.
b) Both Assertion(A) & Reason(R) are true and R is not the correct
explanation of A.
c) Assertion(A) is true but Reason(R) is false.
d) Assertion(A) is false but Reason(R) is true.
faw g srfireper(A) wa Fren(R) i wemar & w&t faeed w1 9 i
arfireRer A: 58 9% 1 U & AT TR H TRT ST 6T 8, 39
FId A FF Bl 2
wRoT R ¢ Siwd i % a1 SeiR § GiieeRl i e Tt St 2)
% ) tfieReA(A) 3R Fro(R) aFt @ 8 i wron(R) stfiere(A) 1wt foeror 2 1
@ ) sAfirer(A) 3t FRo(R) 3T e & o wron(R) - srfrerem(A) 1 @t foawor 7t 2 11
T ) ARIR(A) ¥ € W Fo(R) e 7 1
7 ) AAhrFeE(A) Taa & W F(R) w2 1
As long as MR is positive, TR will :
a) Increase
b) Decrease
c) Be Maximum
d) Remain same
ST T WA TR ST © qef % el ST
&) et
) =it
) waifees Brft
o) gum @it
In which market form, there is perfect knowledge among buyers & sellers?
a) Oligopoly
b) Monopolistic competition
c) Monopoly
d) None of the above
TSR o fope &7 & Shat qm forskareTt & are aequl SR St 872
%h) AR
W) uenifiemTics Sfeenfiar
1) TR
®) T ° &S A&l
Why are Selling costs not incurred in Perfect competition?
oot st aTsm 7 fosk mT i T ardt?

In the following diagram Producer’s equilibrium is achieved at point
a) K b) L c)BothK & L d) Neither K nor L

) K st L gFi
) K et L 3t w & 7
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‘Contraction of supply occurs due to change in factors other than price of
the given commodity.” State whether the statement is True or False giving
reason.
“qfct T T A % AT IHHT T A AT ST FHIRT 3 FHROT ST 81 FROT Al
FaTd ST TE YT T T AT Tl
If demand falls in the same proportion as rise in supply how will the market
equilibrium react ?
a) Equilibrium quantity rises
b) Equilibrium price rises
c) Equilibrium quantity remains same
d) Equilibrium price remains same
Ffe wiT H FHt ST g H Ifg T & ST H Eelt § A SIS Ao R TR # wffsRa o ?
%) sqfera #mm § gfg et
) wqfera e § gfg 2t
dT) wgfera AT quE @
) wgfora shia aae Wit
When price of a good is Rs 7 per unit, a consumer buys 12 units. The price
falls to Rs 6 per unit, and the consumer now spends Rs.72 on that good.
Calculate price elasticity of demand using the percentage method.
Te T T HIHT &, 8/$HTE T R ITIRRT IahT 12 Senrsat wriadr 81 e g i Fiwa e
%.6/<TE Bt & A1 SUMIRRT 39 W &.72 @ Har 2 Sfawra fafer gr wim it fima = J1a
Explain the difference in the slope of AR & MR curves under Monopoly

and Monopolistic competition.
TR U TehTTerehTiCeh SfrRfiTaT o Siaia STed STRTT qe Higid 3T Jshi i @Tel & st 3Tt

Iy Hifg
OR
Bring out the difference between ‘Price Discrimination’ and ‘Product
Differentiation.’
‘i fadie” qom Ieame favied * % e ol i il
Given the TFC equal to Rs.60/, complete the following table:
& 7 e feeR AT 1 %.60/- T g et g i
Outputseres | AVC(Rs.) TC(Rs) MC(Rs.)
sited ufedf @ (5.) | e o (5) | I AT
(=)
1 20 S S
2 15 — —
3 20 — —

Discuss the concept of ‘Price Ceiling’ with the help of diagram.
‘e W1 A ke T ST Y wETT § wHE)
Distinguish between positive economics and normative economics. Give an

example of each.
HehTIcHeh ST qT HTehiar 37T o sfi<r 3Tat w98 HIfS1Q) ST o1 Tk Tk Serewr +ft 3|

OR srerar




Discuss the two aspects of the central problem of ‘What to produce ‘.
‘AT ICUTEH AT S T ezl FHEAT % T TeqAT hl HHATEY|

Explain the ‘Law of Variable Proportion’ with the help of a numerical
schedule and diagram.

“qftard! ST o e’ i U weTeeh STIEE T S i SeRidT § aHE)|

Explain Consumer’s Equilibrium in case of two commodities using the
Cardinal utility approach giving a schedule & diagram.

21 TEG3AT % Hawl H e ISHRITIAT fa=dwor SRT ST Hqei i U 3TIee a9 3T i
FEAT ¥ gHATY|

OR stear

Explain Consumer’s Equilibrium using the Indifference curve approach
with the help of a diagram.
SR 5% % YR T AT A T U STR@ hY FETT § STHIH ST o aHE|




SQP MARKING SCHEME, SET-3
(SESSION ENDING EXAMINATION 2022-23)
CLASS XI SUBJECT: ECONOMICS
Q.No. EXPECTED ANSWERS MM
1. d 1
b OR ¢ 1

a

a

Centrally located value of a series such that half of the values of the series are
above it and the other half below it.

Prices

d 1

Rs. 29.47 ; Assumed Mean method formulais: x=A + Yfd/>f 1 mark
forformula.

OR 2 marks for

Rs. 122.5; Step-deviation method formulais: x=A+ >fd/>f X C calculations.
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Alternatively, students’ name maybe shown on X-axis & Subjects on Y-axis

Class-interval Frequency Cumulative Frequency
9.5-19.5 12 12

19.5-29.5 19 31

29.5- 39.5 20 51

39.5-49.5 21 72

49.5- 59.5 15 87

59.5- 69.5 13 100

M= size of N/2th item = 100/2= size of 50" item.
Hence Median lies in the class 29.5-39.5
M=1l;+N/2—-cf X i
f
M=295+50-31 X 10=309.
20

OR




Mid-value Class-interval Frequency
15 10-20 5
25 20-30 8 (fo)
35 30-40 15 (f1)
45 40-50 4 (f,)
55 50-60 6
65 60-70 7

Modal class interval is 30-40 since it has the highest frequency.
Z=1 + fi-f
21111

Z=30+ 158 X 10 = 33.8
2(15)-8-4

Deviation | Square of Deviation | Square of | Multiple
(x=X-X) | Deviation (y=Y-Y) | Deviation | of

(x%) Deviations
(x.y)

0

-0.5

2.5

0

5

-1

-1.5 2.25
-0.5 0.25
-2.5 6.25
1.5 2.25
2.5 6.25
0.5 0.25

> x=0

=
lll.)
=

X§:17.5

< ZM || o s w o~

e

c ,/}:x! x 2;! '

R =+ 0.45 ; Low degree of Positive Correlation between X & Y.

a) Selection of base year is a problem in the construction of index numbers.
Base Year is the reference year. It is the year with which prices of the
current year are compared. As far as possible, Base Year should be a
normal year. This means the Base Year should be one without serious
fluctuations in the economy. Otherwise, the index values would fail to
capture the real change in the variable.

The problem of Selection of Goods and Services is to be addressed while
constructing index numbers. For example, while constructing CPI it is
neither possible nor desirable to include all the goods and services
produced in the country. We have to choose those goods and services
which represent most of others in the market. Larger the number of goods
and services more representative is the index number.

16. Classification is the grouping of related facts into different classes. Thus, the
process by which data is divided into different classes on the basis of their
similarity or diversity is called Classification of Data.




Qualitative Classification: When the data is classified according to the

qualities or attributes of data, it is called qualitative classification. Qualitative
classification maybe of two types:
a) Simple Classification: the data are divided on the basis of existence or

absence of a quality.

b) Manifold Classification: the quality of data involves more than one

characteristic.

Example: Data classified on the basis of Education, Occupation, Religion etc.

Quantitative Classification: Quantitative or numerical classification is done on

the basis of numerical values of the facts. A number of classes are framed

keeping in view the lowest and highest value as well as the range of values in the

data. Quantitative Classification is also called Classification by Variables.
Example: Data classified on the basis of profit levels, wages earned, marks
secured etc.

Age

No. of
workers

(f)

Mid-
value

(m)

Deviation
from
Assumed
Mean
(dx=m-A)
A=37.5

Square of
deviations
(dx?)

f. dx*

20-25

17

22.5

-15

225

-255

3825

25-30

11

27.5

-10

100

-110

1100

30-35

8

325

-5

25

-40

200

35-40

37.5

0

0

0

0

40-45

42.5

5

25

20

100

45-50

47.5

10

100

30

300

50-55

525

15

225

30

450

5
4
3
2
N=

50

3 dx=0

2

> fdx=

f. dx°=

dx?=700 |- 325 5975

Formula for calculating Standard Deviation using Assumed Mean method:

2
o =P§x2 ‘(4—2_{3&)

Standard deviation = 8.78

c

3 units because the consumer maximises his satisfaction when MUx=Px
Demand for flowers is more elastic because with 1% fall in price of flowers, it’s
demand rises by 0.9%. In case of toys the elasticity is comparatively less because
with 1% fall in price of toys, its demand rises by only 0.5%. The negative sign
only indicates the inverse relation between Price & Demand.

OR

Due to homogeneous product being sold at a given price, the requirement of
sales promotion/advertising is ruled out. Hence no selling costs are incurred
under Perfect Competition.

1

1

1(no marks
if reason is
not given)




b

False. Contraction of supply occurs due to change in price of the given
commodity. Decrease of supply occurs due to change in factors other than price
of the given commodity

C

Price(Rs.) Total Expenditure(Rs.) | Quantity
(Expenditure/Price)
7 84 12

6 72 12

Ped = % change in quantity demanded / % change in Price

Original Quantity(Q) = 12 units ; New Quantity(Q1) = 12 units ; AQ=0
Original Price(P) = Rs. 7 ; New Quantity(P;) =Rs. 6 ; AP=-1

% change in Demand = AQ /Q X 100 =0/12 X 100=0

Since Zero divided by any number is equal to Zero, hence, Peg=0

Both AR and MR curves slope downwards in Monopoly as well as Monopolistic

Competition. However, the difference is in the elasticity of the revenue curves.
Under Monopoly, the revenue curves have lower degree of elasticity of demand
because there are no close substitutes of the monopoly product in the market.
However, in case of Monopolistic Competition, the revenue curves are more

elastic. This is because there are a large number of close substitutes of the firm’s

product in the market.
OR

Price discrimination is a feature of monopoly market. It refers to the practice by

a seller of charging different prices from different buyers for the same good.
Since there are no close substitutes of the monopoly product, a monopolist has
complete control over price and hence can practice Price discrimination.

On the other hand, Product Differentiation is a distinct feature of Monopolistic
Competition. It implies that rival firms are selling products which are not
perfect substitutes but close substitutes of each other.

Output [AVC | TVC |TFC | TC(Rs) | MC(Rs)

1 20 20 60 80 20
2 15 30 60 90 10
3 20 60 60 120 30
Price Ceiling means maximum price of a commaodity that the sellers can charge
from the buyers. This price is often fixed at a lower level then the equilibrium

market price in order that the poorer sections of the society can afford to buy it.

Price Ceiling

Ceiling Price
MD,

Quantity

1

1(no marks
if reason is
not given)

1

1

1 mark for
each
calculated
column
(1x4=04)

Yo




Equilibrium Price = OP ; Equilibrium Quantity = OQ ; Ceiling Price = OP* ;
Excess Demand = ab = Q:Q>

MDy, is the demand curve and MSy, is the supply curve of the commodity. E
indicates the point of market equilibrium. OP is the equilibrium price and OQ is
the equilibrium quantity. The government fixes the price ceiling at OP” in order
to enable the poorer sections to purchase the commodity. OP” is at a lower level
than the equilibrium price OP. Ceiling price is likely to impact the market supply
and market demand. When price reduces from OP to OP” demand for the good
extends from OQ to OQ,. On the other hand, supply contracts from OQ to OQ;.
Thus, a gap between market demand and market supply is generated. This is a
situation when demand is greater than supply or in other words a situation of
Excess Demand.

Positive economics deals with those statements of economic behaviour, relating
to “what was”, “what is” and “what would be”. These statements may be true or
false. Positive economics does not involve value judgement and these statements
are verifiable.

For example, “China has the largest population in the world” or “India has the

largest population in the world”. Both statements relate to Positive economics.

While the first statement is true, the second statement is false.

On the other hand, Normative economics relates to economic problems dealing

with “what ought to be”. These statements can not to be termed as true or false

because they involve opinions. Normative statements cannot be verified and they
involve value judgments.

For example, “No subsidies should be given in the agricultural sector in India”.

This statement is open to be discussed for different opinions.

OR

The central problem of ‘what to produce’ arises due to the fact that means are

scarce in relation to their wants. This problem has two dimensions:

(&) What to produce: The economy has to decide whether Consumer goods are
to be produced or Capital goods are to be produced. Similarly, choice has to
be made between the production of Wartime goods and Peace time goods.

(b) How much to produce: Every economy has to decide how much of
Consumer goods and how much of Capital goods are to be produced. If an
economy decides to produce more of one commaodity using a given
technology & given resources,

then it will have to produce less of the other commodity.

Law of variable proportion is one of the most important laws of production. It
states that as we increase the quantity of only one input keeping other inputs
fixed the total product initially increases at an increasing rate, then at a
decreasing rate and finally at a negative rate.

Assumptions:

1. it operates in the short run.

2. different units of variable factor can be combined with fixed factor.

3. factors of production become imperfect substitutes of each other beyond a
certain  Limit.

4. state of technology is assumed to be constant during the operation of this law.
5. all variable factors are equally efficient.




[ .

10
20

15 -
7 | Phase Il:Diminishing Returns to Factor

0 .
-4 | Phase Il Negative Returns to a Factor

Phase |: Increasing Returns to & Factor

|

I

]

{

;

¢
i
N

i
| L

There are 3 phases under the Law of Variable Proportion:
Phase I- Between O to Q where TP increases at an increasing rate and MP also
increases from O to P.
Phase 2- Between Q to M, TP increases at a decreasing rate and MP falls from P
to S.
This phase ends when MP becomes zero and TP reaches its

maximum point.

Phase 3- Beyond point M, TP starts decreasing and MP becomes negative.
Point Q in the diagram is known as the ‘Point of Inflection’ as the curvature of
TP curve changes, at this point, from increasing rate to diminishing rate.

Consumer’s equilibrium in case of 2 commodities using the cardinal utility
approach is also known as the ‘Law of Equi-Marginal Utility’. It is based on the
Law of DMU. There are 2 necessary conditions to attain consumer’s equilibrium
in case of two commodities:

1. The ratio of Marginal utility to Price is same in case of both the goods i.e.
( MUx/Px:MUY/PY:MUM).
2. Marginal utility falls as consumption increases.

In the given table, total money income of the consumer is assumed to be I5
which he wishes to spend on two goods X and Y. Both these goods are priced at
%1 per unit. Hence consumer can buy maximum 5 units of good X or 5 units of
good Y. The marginal utility which the consumer derives from various units of
X &Y are shown in the table.




In the diagram MU from commaodity X is taken on OY axis and MU from
commodity Y is taken on O;Y; axis. MUx & MUy are the MU curves for goods
X & Y respectively. To reach equilibrium the consumer must fulfil both the
necessary
conditions which happens at point E when the consumer buys 3 units of Xand 2 3
units of Y. This is because:

a) MU from the 5th rupee spent on good Y gives the same satisfaction of 12

utils as given by 4™ rupee spent on good X.

b) MU of each good falls as consumption increases.

If the consumer spends his income in any other order total satisfaction will be
less than 74 utils which the consumer will obtain while buying 3 units of X and 2
units of Y.

OR

The indifference curve analysis determines consumer’s equilibrium, that is, the
point of maximum satisfaction by studying indifference map and budget line
together. The consumer’s equilibrium under this theory must fulfil the following
two conditions:

)] MRSxy = Px /Py (ratio of prices).

If MRSxy > Px /Py , it means that to obtain one more unit of X the consumer is
willing to sacrifice more units of Y as compared to what is required in the
market. It induces the consumer to buy more of X. As a result, MRS falls and
continues to fall till it becomes equal to the ratio of prices and the equilibrium is
established.

If MRSxy < Px /Py, it means that to obtain one more unit of X the
consumer is willing to sacrifice less units of y as compared to what is
required in the market. It induces the consumer to buy less of X and
more of Y. As a result, MRS rises till it becomes equal to the ratio of

prices and the equilibrium is established.




MRS continuously falls MRS must be diminishing at the point of
equilibrium, that is, the indifference curve must be convex to the origin
at the point of equilibrium.

Consumer's Equilibrium by
Indifference Curve Approach

Consumaer is at equilibrium at
Point E, when budget line AE is

just tangent to '1C,’

In the above diagram, IC4, IC, & IC5 are the three Indifference curves. AB is the

budget line. Given the constraint of a budget line, the highest IC which a
consumer can reach is 1C,. The budget line is tangent to IC;, at point E. This is
the point of Consumer Equilibrium where the consumer purchases OM quantity
of good X and ON quantity of good Y. All other points on the budget line will
indicate a lower level of satisfaction.

The second condition is also satisfied at point E as MRS is diminishing at point
E, i.e., IC,is convex to the origin at point E.

A budget line can be tangent to only one indifference curve, consumer
maximises his satisfaction at point E when both the conditions are satisfied.
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GENERAL INSTRUCTIONS:
1. This question paper contains two sections;
Section A - Statistics for Economics
Section B - Introductory Micro Economics
2. This paper contains 20 Multiple Choice Questions type questions of 1 mark each.
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in 60 to 80 words.
4. This paper contains 6 Short Answer Questions type questions of 4 marks each to be answered in 80
to 100 words.
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100 to 150 words.
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Q.NO SECTION A - STATISTICS FOR ECONOMICS
54 g U - 7 & o aifeaht
1 Statistics can be considered as ;

a) A science b) an art
c) both (a)and(b) d) neither a science nor an art

c) =i (a) 3k (b) d) 7 @t foq™ 3R 7 & e
First-hand information data are called.
a) Primary data b) secondary data
¢) both (a)and(b) d) None of the above
TeqeT B ¥ U fohT TTT 3RS FEelTd &
a) ik aTihe b) fedfrre stiee
C) Mt d) = & =g =
Classification is the process of arranging data in .
a) Different rows
b) Different columns
c¢) Groups of related data in different classes
d) Different rows and columns.
F SFafkerd s T ufsRa R |

b) ster-stenT wiem
C) weifaa et % fafir= ot & wvE
d) fafir afwat sit T




Which of the following statements is not an example of statistics.

a) Birth rate in India is 18 per thousand as compared to 8000 in the US.

b) Ramesh has a rupees hundred note in his pocket.

c) Over the last 10 years India has won 60 test matches in cricket and
lost 50.

d) Awverage pocket allowance of the students of class 11 is 500 per
month

frafafed & & i a1 e Hifersht w1 e T8 2

a. e & 8000 it qer § wra # 91 & 18 wfd &I 2

b. v i Sia & o T 1 A R

C. fumer 10 ant & wra J ke § 60 % &= fiq & 3fiv 50 e 2

d. e 11 % =i @1 3w diske wmr 500 wfa ore 21
Diagrammatic representation of the cumulative frequency distribution is;
a) Frequency polygon b) Histogram c) Ogive d) All of these
Tt STETRAT sie 1 JTRE T & 2;
a) ST sgde b ) fewemm ¢) awor d) 7wt
Consumer price index is also known as
a) Family budget b) cost of living index
c) whole sale price index d) Industrial Production index
a) IER 1 a5 b) Sfta farte Fererish i AT
C) e forshl Ao goshieh ) AR Icumee Feahish
Arithmetic mean of a series is affected by the _ (lower/extreme) values 1
of the series.
TS T T SO " g o (Freci/e) wE & wfad @ @

Read the following case study and answer the questions (8-10)
Correlation measures the linear relationship between the two variables.

If ris O, it implies the absence of correlation, i.e there is no linear relation

between them, however, in such cases the variables may be non-linearly

related. So, if two variables are not correlated, it does not necessarily

follow that they are independent.

frafafas Fo wdrwrog ot 8 - 10 wei 3w

TEEse & = % e XRaeh Hete i It 21 S 1o R, O 9% wewsy i satedta i g g,
FTUTd 3k ST I3 ek e Tl &, TTeiifoh, o ATHal H =X I-tRae &9 § Heford & aohd 8l
Tafore afs &1 =) wegefa TE §, @ 7% e 7 R 5 3w #
Coefficient of correlation in case of perfect negative correlationis
a)l b) -1 c)0 d) all of the above
U ST HEEe % W] § HeHs e H0E @
a) 1 b) -1 c)0 d) 3w oft
The correlation is said to be positive when two variables move inthe
direction
a) Same Db) opposite c) linear d) either (a) or (b)
TEHE T HHRIHE el ST 8 S ar = fowm § =t &
a) e b) fowda C)¥fa= d) a=rb)
is a graphic presentation of correlation
a) Ogive b) Histogram c) Scatter diagram d) Both (a)and(c)
HEwse T Tk Mitheh TG &
a) arwr b) feemm ) @het e d) (@) 3k (C) 2T
OR
CREI




Read the following case study and answer the following questions:
“Mode is the value which has the greatest frequency density in its
immediate neighbourhood”
The forgoing, discussion reveals two concepts of mode;

1) Mode is a value which repeats the highest number of times in a
statistical distribution.

I Mode is the value around in which there is a greatest
concentration of values. It is the second concept of mode
which is more appropriate in statistical analysis. For a common
man, it is the first concept which is more appropriate.

frafafed e w1 1 ok fmfafaa e & sw
" Sge o8 A § ek fehead e W sTaft e wed St g 8"
TETTHT, < 8 Sgee ol A STTURONST 3 ol = €

|. g o UEr aE @ S wifeashie fordwor # et sifereh A arewrr @)

Il. g a8 7 & e = ST 7ol o1 Gaiiies Hohsvr 21T 8| I8 S5 i gad
HIGTO & ST i forsgwor & 1foreh I 81 T 31 STeeft o forg, weedt
HAYON A4 ITTH 2

Mode of a series is;
a) An average value b) a middle value
c) a highest frequency value d) none of the above
TS AT T TG ¢,
a) T rEd g7 b) T wew e
C) S==raH g 7 d) SrE o ¥ g T2
A grouping table has;
a) 4 columns b) 6 columns c) 8 columns d) none of these
TS GG QT ¢,
a) 4 =i b) 6 wiem C) 8 wiem d) s & i T
If mode is ill defined then it is calculated with the help of formula;
a) Mode = 2 median — 3 mean
b) Mode = 2 median + 3 mean
c) Mode = 3 median + 3 mean
d) Mode = 3 median — 2 mean
AT g i I Tel fohaT T 2 Y SEeh! O 9 ST weTeT § Y S €
a) gt = 2 itz - 3 wrey
b) gk = 2 Hifexah! + 3 wre
C) a5 = 3 Wit + 3 wrex
d) gt = 3 wHifeaeH - 2 wreq
“The sum of deviations of items from arithmetic mean is always equal to
zero” Yy (X — X = 0). Prove this statement with the help of numerical
example.
g e § e % faerer w1 A wdd g d s A 2 (3 (X — X) = 0) wenew
ITEL0 T W1 § 6 U 1 {45 HIfg)
Why does rank correlation coefficient differ from Pearsonian correlation
coefficient?

OR
Discuss the properties of correlation coefficient. (any three)
Toh wEHstY Ui TR wewst orieh & firet i &7
au

HEHse Ui o Uit st e it (g i)




The following table shows the distribution of employment in rural areas in
to self-employed, casual wage workers and Regular salaried employed.

Status of Self-employed Casual wage | Regular salaried
workers workers employees

Percentage (%0) 58 29 13

Represent the above data as pie diagram.

OR
The following table shows estimates (approximate) of distribution of work
force (in percentage) by Industry for the years 2011-12 and 2016-2018.

Industrial
category

Primary
sector

Secondary
sector

Tertiary sector

2011-12

49

24

27

2017-18

45

25

30

Represent the above data as Multiple bar diagram.
T fetent TTior ST B T-TSITR, STTehfiush oa skt o7t frafia it shenfet & s
% forazor =1 garid 21

ATeeRt <ht Tertar

ESIERIIE)

SR A FHT

frafia S
FHHH

e (%)

58

29

13

SUIh ATHST I 5 AN & &9 H FRefud il

1

T aferart et 2011-12 3w 2016-2018 = fore 3 g s o o ferawor (wfcera #)
ST (STAIQ) T g 2

et goft

TTEHLT T

Hreaties &

et 2oft T e

2011-12

49

24

27

2017-18

45

25

30

ST ST I T IS AW o & H Fefud il
The following table gives daily income of 100 workers in a factory. Find
the arithmetic mean.

Daily 0-50
Income
(Rs)

50-100 | 100-150 | 150-200 | 200-250 | 250-300

No. of
workers

10 5 20 30 25 10

faeferaa arferen e e § 100 sifient i1 2 31 aidt 81 SieRTTirg J7ed [d hifsig)

3w @ (=) | 0-50 | 50-100 | 100-150 | 150-200 | 200-250 | 250-300

e we | 10 5 20 30 25 10

In a poetry recitation competition, 10 participants were accorded following
marks by two different judges, X and Y:

X 15 17 14 13 11 12 16 18 10 |9

Y 15 |12 |4 6 7 9 3 10 |2 5

Calculate the coefficient of rank correlation.
Teh ShiddT 918 Wit #, & sterr-arem =, X 3 Y g 10 sfesfi s fefataa
37 fou

X 15 |17 |14 |13 |11 |12 |16 |18 |10 |9

Y 15 |12 |4 6 7 9 3 10 |2 5

o HEwse % TUTh shT TUMT il

(a)“Sampling method provides better results than Census method” Do you
agree with this statement. If so, give arguments in favour of your answer.
(b)Prepare a frequency distribution by inclusive method taking class
interval of 6 from the following data:




5 8 12 17 34 25 35 12 10 20
4 3 29 27 33 36 1 29 12 32
23 24 27 31 10 11 13 15 2 l
14 18 24 30 36 7 21 13 6 9

(@) " T Tgft SETORT Tl AT JOT 7 SiedR TROTH e Rl & FT ST 36 Hed ¥ dend
Bl 7 =, A 399 I F veT F o A
(b) fr=fafaa stisret @ 6 T ot SfaU wo TTaRft fafer grT SHeTaT forawor dam i

5 8 12 17 34 25 35 12 10 20

4 3 29 27 33 36 1 29 12 32

23 24 27 31 10 11 13 15 2 7

14 18 24 30 36 7 21 13 6 9
Examine the benefits of (a) Whole sale price index and (b) Consumer price 6
index in Economics.
(a) =it forsht Ao gereniar SR (D) 3Tefemer & SUIRRT Jo Geehish o ATl 31 STre ol

PART — B MICROECONOMICS

From the statement given below, identify the statement which is false.

(a) Production possibility frontier is concave to the origin when the Margina
Rate of Transformation (MRT) Increases.

(b) An economy always produces on PPC, if resources are fully and
efficiently utilized.

(c) Massive unemployment will shift the PPC to the right.

(d) PPC shift toward right when there is growth of resources.
e f3u T em ¥ 36 FeA T U AT S a2

(a) uftada st dimiq o (THRARLY) e T 3T HTaHT ST 7 o forg steaat gt 2l

(b) wen srelierarean g it 0T SeaTed AT B, S HEIEAT BT G AT SR Ferm § ST
IERISICIR!

(C) wrdr ST e BT aTE ST wHiaiE o i

(d) wemet i gfg 9w i 8 31 e 2 St

State whether the following statement is true or false:

A consumer consumes only two goods X and Y. Marginal utilities of Good X and
Y are 4 and 5 respectively. Price of good X and Y is Rs. 2 per unit and the
consumer is in equilibrium.

OR

Read the diagram given below and find that it belongs to which type of elasticity
of demand? (Choose the correct alternative)

-5

R

Price (in%)

Quantity demanded (in units)




(a) Elastic demand ( Ed» 1) (b) Inelastic demand (Ed < 1)
(¢) Perfectly elastic demand( Ed =)  (d) Unitary elastic demand (Ed = 1)

wate for feaferRaa s &t & ot Tera

T ITWIHT sharet af aeqaat X 3R Y 1 3T st o) g X AR Y 3t |iwid STERang saen:

4 3 5 2 s X 3R Y &t #hiwa 7 2 wfd Ffie ik 3usieh dqe 4 2
an

= fau o st =t ufew ik I Al o a7 A A o weEr Y A & wefia 8? (w
TR 1 == )

(a) sireer =i (Ed » 1) (b) @rerer wim (Ed <1)

(C)xft e @ Srer 7 (Ed=00) (d) wetere wr=er =i (Ed=1)

Read the following statements and choose the correct alternatives given
below:

Statement 1. Substitute goods are those goods if the rise in price of Good X
causes rise in demand for Good Y.

Statement 2: The demand for a Complimentary good rise if the price of other
complimentary good rises.

Alternatives:

(2) Both the statements are true.

(b) Both the statements are false

(c) Statement 1 is true and statement 2 is false.
(d) Statement 2 is true and statement 1 is false.

FrafaRaa wert 1 ufgy oiit e fIg o frepeat & & &t foerew g 1
w1 v FRE 9 Y § Al aeq X s hAd § qfg o wRr awq Y A 6 gt
&l 2

T 2 . AT Uk [k ] hl hIHd Sedl @ dl 3 Gk ] ol AT A g el gl

forereu

(2) 3T Fom T 2

(b) 3t e TTera §

(C) o 1 v 2 3R e 2 T 2

(d) = 2 v & 3R e 1 7Tea 2

Which of the following causes upward movement along the demand curve.

(a) Expansion of demand (b) Contraction of demand

(c) Increase in demand (d) Decrease in demand
fafafaa & & forg Mo & | a5k SR AT 3R 71fy LT 2 |

(2) wi = foar (b) =i =1 wF=

(C) =i # gf (d) =i & et

Read the following statements and choose the correct alternatives given
below:

Assertion (A) Indifference curve is convex to the origin.

Reason (R) Due rise in Marginal rate of substitution (MRS)

(a) Both assertion(A) and reason (R) are true, and reason (R) is the correct
explanation of assertion(A)

(b) Both assertion(A) and reason(R) are true, but reason(R) is not the
correct explanation of assertion(A).

(c) Assertion(A) is true but reason (R) is false

(d) Both assertion(A) and reason (R) are false.




Ffafiaa oM &1 afeu iR e fa e fompedi § @ w@ fompe T
afireRe (A) 3T a5 7o % 3 2
&t (B) wfteerm i €imid & § gfe (THeineE)
(@) srfirre (A) 3t wror (R) 2t aex €, 3t swmor (R) safisper (A) i w2t same 21
(b) = (A) s wre (R) aFi we &, afer s (R) sifispem (A) i @t samea &
2
() fieRe (A) w2t 2 dferd &ror (R) e @
(d) e (A) it s (R) 391 Tera 2
Identify and match the sequence of alternatives given in Column I with their 1
respective functions in Column 11
Column | Column Il

A | Normal goods (i) | To increase the consumption of one good we
have to decrease the consumption of other
good.

Inferior goods (i) | PAIX1+P1X2=M

Budget line is (iii) | Demand decreases when income of the
straight line household increases assuming price constant.
Budget line slopes | (iv) | Demand increases when income of the
downwards household increases assuming price constant.

wiem | ¥ 4y g foenedi o AT i ga SR &iew || § 37k datera et o ey
T =t

wtem | wtem |
A | Fm= 5EE (i) | v =g 1 @ud sgH o forg & gudl areq i @ua
T HTT T
B | swrHe (i) | PIX1+P1X2=M
aie war et war wdt & | (iii) | Fmd Rer A afEr i S s W A ge
STt 21
afe @ A fit AR gerdt | (iv) | Fmd Rer are ufEr i T e W ui a9g
g STt 21

(@) A-(iii), B-(i), C-(ii), D-(iv) (b) A-(iv), B-(ii), C-(iii), D-(i)
(c) A-(iii), B-(i), C-(iv), D-(ii) (d) A-(iv), B-(iii), C-(ii), D-(i)
From the given statement identify the false statement:

(@) AR curve is inverse U-shaped curve. (b) TC curve is S shaped curve.
(c) AVC declines as the output increases. (d) TFC first rises then falls.
fow T o | STET FHYA T TREH HL

() TR a5 IAT I-3ATHT T 56 2

(b) Freft a5k wH TR AT T 2

(C) *Tm3eqe e W weltEt wre STt 2

(d) et Teet 3T @ foR firar =

Find the missing values from the following:

Output Average Variable Total Cost (RS) Marginal cost (Rs)

(Units) | COst
(AVC) (Rs)




a) 60, 78 (b) 20, 96 (c) 20, 76 (d) 60, 76
OR

“The GST rates were hiked on several items at the 47th Council Meet, chaired by
Union Finance Minister Nirmala Sitharaman last month in Chandigarh”

Business standard Dated July,18th,2022.
Identify the most likely impact on the supply of goods whose GST rates were
increased from the following:
(@) Increase (b) decrease  (c) Only (a) (d) Both (a) and (b)
"fUee 7R =g ¥ S fo ol feden darmor it sremerar § 47 ot aftwe it Sow § S

FEAT T SwEet U 7 TGt hi 75 off" - fooiw e feiw 18

s , 20221
37 TEGAT T AT W TS HHTTT THTS hT Ugan= Y [reht SArgeet s # FeferRaa

T gheg 6 TS oft:
(2) f (b) F (C) e (2) (d) = (a) s (b)

Read the following text and answer the questions 26 & 27

It is not very uncommon to come across instances where government fixes
a maximum allowable price for certain goods. The government-imposed
upper limit on the price of a good or service is called price ceiling. Price
ceiling is generally imposed on necessary items like wheat, rice, kerosene,
sugar.

For certain goods and services, fall in price below a particular level is
not desirable and hence the government sets floors or minimum prices for
these goods and services. The government imposed lower limit on the
price that may be charged for a particular good or service is called price
floor.

FraferRaa =t ufew it 26 iR 27 & wait & s Gk

T ST T T Fgd ST el & STel Thi Fo Al o g Aferhan @i qod &
T ) ForeT areq AT el AT I T R G TS TS S WA T A HT gl St 2| 7o
T SR TR, =, gt % aw, =i S srawe awgelt 7 s S 2l

T eI 3R Faedt % o, v oy T & = i # firrae afea 76 @ ofk gufoe wer
3 et R Fanetl % g FEaw a1 *an qod Fuiia w2 WeER T 39 hd 1 et
e TS it foret ORIy o o fan o forg oft S weRdt 2, o e i et S 2

The price ceiling is (Choose the correct alternative)

(a) Above the equilibrium price (b) Below the equilibrium price.
(c) Equilibrium price (d) Both (a) and (b)

o T ¥ (wrét forenew o)

(a) Eqe i & I (b) wqem e = =i

(C) e e (d) = (a) = (b)

Most well-known examples of imposition of price floor is/are
(Choose the correct alternative)

(a) Maximum Support Price (b) Minimum Support Price
(c) Minimum wage legislation (d) Both (b) and ( ¢)

et freifia fiva o & gad gfieg seretr

¥ (vt Rrepeag)

() stfereram Tl qo

(b) =aw awel w=r



Why does an economic problem arise? Explain the problem of “How to
produce?”
Tfefer THET AT Ica Bt 87 "IeaTa e hi?" S GHET Y AT
Analyse the effect of the following on the supply of the commaodity:

(@) Technological change (b) Increase in price of inputs

OR

Explain the relationship between total cost, total fixed cost and total
variable cost with the help of a diagram.
&g T S o FefeRaa & sra o ferseor R

(b) ToFfreft aftad (D) 379e &t Fima & gt

a0

Tort T FERIAT & FA AT, Fit o AT 3 FHA TG AT o sffel Hafel i ST HIQ
A consumer consumes only two goods X and Y whose prices are Rs.4and 4
Rs.5 per unit respectively. If the consumer uses a combination of two
goods with marginal utility of X equals to 5 and of Y equal to 4. Is the
consumer in equilibrium? What will the reactions of the rational
consumer? Explain.
T STWIHT sharet ot et X SR Y T ST et & (Seht hid shsT: 4wt 37 5 &t o
Ffe 31 afg sovier X &t dimiq Swfiar 5 % suet oK Y it 4 % se &1 aeqedl & wee
SUINT FIAT 2| FIT ITHIHT VI H 87 ToHETTd ITHIHT T AfsFaTd = 2rfi? aHer|
A consumer buys 50 units of commodity at a price of 10 per unit. Find
the new quantity of commaodity using percentage method if price increase
to X 12 per unit. The elasticity of demand is equal to (-)1.5.
T TR aq ot 50 3T 10 wft 39S Y i T e 81 wfra fafer s ST ek awg

&1 ¢ AT F1a hifse, afe FHma X 12 gfd 3o ae g St 81 7 i @ (<) 1.5 % s 2
Explain the implications of the following in a perfect competition;
(@) Large number of buyers (b) Freedom of entry and exit to firms.
OR
Market for a good is in equilibrium. The demand for the good increases.
Explain the chain effects of the change.
T Ut SfeRfirar 7 fefoiaa & ffearet i smen i,
(2) Tfieri i st e (b) wut o yawr 7R frer it e
a1
T 3T % oG SToTR Ser & 81 g bl | o1 STt 81 36 TR 3 gae YT s o
EZl
What is indifference curve? Explain consumer’s equilibrium under the
indifference curve approach with diagram?
IETHIAT 95 T 27 IETEAaT a5k STNTH o SHATa STHIAT 3 e i ot Fied awamsy ?
Explain the law of variable proportions through the behavior of total 4+2
product and marginal product. In which stage, a rational producer stops the
production and why?

OR
Explain the marginal cost and marginal revenue approach for producer’s
equilibrium with the help of schedule and diagram.
Fd 3G SR HHIT A o HGEH o ATead ¥ GREaeiier ST o o ol = wi T
Torarerefier ScaTae forer STareerT | IcdTa Uk IaT & ST F:?

ah

T ST AT hiT FEIAT ¥ IcAEH % Ve o g Hiwia TArTd 3R Haiq Toreas gioshion i
STEAT |




